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5. 6{lost oy UR INDEX ojsH@s1 olotlcllal & A Yl otl osclletall Uos ololR luUclloll 234,
The second page must have INDEX showing page number of answers of the questions.

6. AT No2 UoHl2 5l s 2Uld B Boll Al Al
It is compulsory for all the students to submit assignment.

Note : Assignment will be collected OFFLINE MODE ONLY the details of which is shared below




Ll SlA%eL olls1H ANRR 2 oll AHIH (Qan AR Rl e ] AUA B ¥

o WAWotN2 WHL s2Aclcllofl Al ol A WA B. The date of submission of assignment is as under

AN HLkAH DATE AHA 3 ololR
oflslH AN 2 ()% 19/04/24 AcdRall 8 Al 11 | 32 (ollsl 1)
ollsl ANeR 2 apes2Acll 20/04/24 AcdRall 8 Al 11 | 32 (ollsl 1)




Ahmedabad Arts and Commerce College
Assignment
B.com Semester: 11

Subject: Financial Accounting-3

Que-1 Explain Techniques, methodologies applications and importance of Forensic accounting?

Que-2 Prashant limited issued 5,00,000 equity shares of Rs. 10 each, at a premium of 50%. The
company called up the amount per share as under:

With application 5Rs
With allotment 8 (including premium)
With first and final call 2

The company received applications for 8,00,000 shares. Allotment was made pro-rata to the
applicants of 7,50,000 shares and the remaining applications were rejected. Money overpaid
on share applications was adjusted against sum due on allotment.

Paresh who applied for 3,000 shares did not pay the allotment money. His shares were
forfeited. Then the first and final call was made.

Prakash who was allotted 3,000 shares did not pay the first and final call money and his
shares were also forfeited.

All the forfeited shares were reissued to pradip at rs.7 per share as fully paid.
Pass necessary journal entries to record the above transactions in the books of the
company.

Que-3 Rahim limited issued 5,000, 10% Debentures of Rs.100 each at a premium of 20%.
Amount payable was as under:

With Application Rs. 30 per debenture
With Allotment  Rs. 50 per debenture (including premium)
With call Rs. 40 per debenture

Applications were received for 6,000 Debentures. Excess applications were
rejected and amounts thereon were returned. Ashish who is the holder of 100 debentures
had paid full amount of debentures along with allotment. All sums due were received



with the exception of Arun to whom 300 debentures were allotted failed to pay money

due on first call.

Pass journal entries in the books of the company.

Que-4 The following is the trial Balance of Shakti Ltd. as on 31-3-2019:

Debit Balances Rs. Credit Balances Rs.
Debenture interest paid 15,000 | Share capital 10,00,000
Calls in Arrears 50,000 | General Reserve 60,000
Purchases 5,00,000 | Debenture Red.Reserve 40,000
Opening stock 80,000 | 10% Debentures 2,00,000
Debtors 2,00,000 | Public Deposits 80,000
Telephone Deposite 30,000 | Purchase Return 20,000
10% Government loan 1,00,000 | Sales 12,00,000
Land and building 14,00,000 | Creditors 30,000
Plant and machinery 2,30,000 | Unclaimed Dividend 10,000
Sales Return 25,000 | Bad Debt Reserve 18,000
Employee 's salaries 50,000 | Statement of profit and loss 42,000

surplus (1-4-18)
Office Expenses 20,000
27,00,000 27,00,000

Additional Information:

Closing stock Rs. 40,000.

Make provision for bad debt, at 10% on debtors.
Provide depreciation on land and building at 5% and plant and machinery at 10%
Make provision for taxation at 50% of profit.

Proposed dividend 10% on share capital, after transferring Rs. 20,000 to general Reserve.

Provide corporate dividend tax at 20% on dividend.
Prepare final accounts as per schedule3 of companies act, 2019.
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Ahmedabad Arts and Commerce College
B.Com. Semester 2

Cloud Accounting -1

Q1. Define Cloud Accounting and explain its benefits./ SAULGS WSLG(eEoL ol calluall Al Aotl ALl
ALl

Q2. What are the challenges of adapting ERP configurations./ERP 3’1&1}{'[8011 A AsOULAAL USSR
(Ll

Q3. What are the objectives of General Ledger in a ERP?/ %ol QxR ol Ga2ll %Qllcn.

Q4. What are the benefits of ERP for inventory management?/ fodoe 3| NaloHod HI2 ERP oll GALEL
oLl



AHMEDABAD ARTS AND COMMERCE COLLEGE
ASSIGNMENT
B.com Sem-2
SUBJECT: MDC-(ECONOMICS-124)

Labour economics

Q:1 Discuss the scope of labour economics.
Q:2 Give the meaning of labour market, explain the labour market equilibrium.
Q:3 give the meaning of wage policy, discuss the importance pf wages policies.

Q:4 Explain the meaning of unemployment, discuss the main types of unemployment
in India.

AHMEDABAD ARTS AND COMMERCE COLLEGE
ASSIGNMENT
B.com Sem-2
SUBJECT: MDC-(ECONOMICS-124)

Labour economics
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Paper Name: AEC- Practical English

. Discuss ‘Appro JRD’ by Sudha Murty in detail.

. Write a detailed note on the Present Tenses with example you have studied.
. Write short notes on any two of the following:

a. The Wise Parrot and its relation with the King

b. The tragic end of the story ‘Orpheus and Eurydice’

c. The Significance of the title ‘On the Rule of the Road’



Ahmedabad Arts and Commerce College
Assignment
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Paper Name : SEC- Personality and Leadership Development

. Discuss the environmental factors influencing Personality Enhancement.

. Write a detailed note on the characteristics of a good leader.

. Write the notes on any two of the following:

a.

b

C.

Importance of Personality Enhancement
. Leadership Skills

Business and Social Etiquette in Personality Enhancement



Ahmedabad Arts and Commerce College
Vasna Ahmedabad

B. com sem-2
Assignment (Statistics)

Unit1l

1. Define the following terms:
a. Probability
b. Conditional Probability
c. Equally likely events
d. Favorable events
2. Find the probability of 53 Sundays in a leap year.
3. Three dices are thrown simultaneously find the probability of getting
total at least 16.

Unit 2

1. Define mathematical expectation. State its properties.
2. Define variance of a random variable. And prove that variance= E(x2)

- [E()]*

3. The probability distribution of a random variable X is as follows:
Xi -1 0 1 2 3 4
P(xi) 1/8 1/8 1/4 1/4 1/8 1/8

Find mean and variance of x.
Unit 3

1. State properties of Poission distribution and hyper geometric
distribution.

2. For a poission variate 3P(x=2) =P(x=4), find mean and variance.

3. There are 10 defective bulb in a lot of 80. From it 8 bulbs are taken
one by one. Find the probability that:
i Two bulbs are defective.
ii. At the most two bulbs are defective.

Unit 4

1. State properties of negative binomial distribution and geometric
distribution.

2. A die is thrown and obtaining 5 on the dice is regarded as success.
Find the probabilities of getting second success as the 6t trial.
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3. A dice is thrown and getting 5 is regarded as success. Find the
probability that more that 4 trials will be required before getting first
success.

Multiple Choice Questions:

1. In negative binomial distribution, mean= and variance=

a. q/p, a/p> b. nq/p, nq/p? c. p/q, p/g? d. None of these

2. in geometric distribution, if g= Y2 and p= '2, then mean = __ _,
Variance=
a. 2,3 b.1,4 c. 1,2 d. none of these
3. Poission distribution is a distribution of variable.
a. Continuous b. Discrete c. Average d. None of these
4. In hyper geometric distribution, mean= and Variance =
a. Mr/m+n, mnr(m+n-r)/(m+n)2 (m+n-1)
b. np, npqg
c. a/p,q/p?

d. None of these
5. The difference of two events A and B is the event that A happen and B
does not happen, it is denoted by
a. A-B b. B-A c. A’'uB d. None of these
6. When n>o and g/p = 0, negative binomial distribution tends to __
distribution:
a. Hyper geometric
b. Poission
c. Negtive
d. None of These
7. When n= __ negative binomial distribution becomes geometric
distribution:
a. 0 b.1 c.2 d. None of these
8. Mean of a poission distribution is 8, then its SD= __
a.8 b.8 c. V8 d. None of these
9. In poission distribution probability of success p(x)=
a. em. mx/x! b. em. m¥x! c. e™ mX d. None of these
10. In mathematical expectation, E(x)= 2, E(x?)= 4.6 then V(x)=

a. -0.6 b.-0.8 ¢. 0.6 d. 0.8
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